Warm-Up 10/2/17

Solve the followina ineaualities and graph the solutions.
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Solve the following equations.
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Customary Measurement Conversions
10/2/17
Standard:
MGSES5.MD.1: Convert like measurement units within a given
measurement system.



Essential Question 10/2/17

How can | convert units in Customary System?

Objective:

| can convert units for length, weight, and capacity in customary
system.



Open: 10/2/17

Fill in as many measurements as you know!

Show two slides



Customary Onits of

Measvrement
[ i

Length Convert each quantity to
the given units.
1 ft. } D in. 4ft.= 48 in
1 yd. 2 . 1%yd. = 5S4 in.
1 vd. >t V2 yd.=7%ft
I mu. 580 fti. 1/3mi. =["6o ft.
1 mu. I Teo vyds. 3mi. =52 B0yd.
Weight
1 Ib. |6 oz 61bs.= A6 oz
1 ton 2000 lbs. 6 Y4 ton=12.800 lbs.
Capacity
1 cup L Ll oz Y c=1920z
1 pint L cups 15pt= A ¢
I quart S~ pints 16 qt= = pt
1 quart 4 cups J4 qt=56¢
1 gal. “t  quarts Vigal= | qt
1 gal. [(o  cups |\ gal=176¢
1 gal. | 9% fl oz 6gal= (6% fl oz




Notes in INB
Customary Conversions Strategy

Small units to large units Large units to small units
Example: 40 in = ft

SalL

12in.=1ft

e ————————————

g ‘B E);asmple: 1l2gal=_  qt 12@.%

4 qt.=1gal.

Multiply by the conversion factor




We can also set up proportions to perform customary
conversions!

Customary Conversions
Match each numbered measurement with a line to its
correct conversion. Show your work!

1. 4 feet G |A. 54 in.

. 1 % yardsA|B.T68 fl. Oz.
. T7S5feet D |C.9c
1/3 mile L |D.2 Y5 yd

. 3mile T |E.24c¢

. 61lbs. © |F. 32 pt
12,800 lbs. |G. 48 1n.
192 0z. £ |H. 96 oz.
9. 45pt. C |I. 5280 yd.
10. 16qt £ |J.1qt.

11. 56 c N |K. 11 gal.
12. Yagal. N |L. 1760 ft.
13. 1760c WK |[M. 6.4 tons
14. 6 gal. B |N. 14 gt.
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Class Work -1 10/2/17

1 . Instant Meals sent out free samples to introduce its new product, Sesame soup. Each sample weighs 69 ounces. The
post office charges thirty-six cents for every 23 ounces of weight. How much would Instant Meals spend on postage to malil
out one hundred eighty-eight samples? Include the $ sign
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2. There is a jar on the cabinet by the refrigerator. If Keona_mmsJJWr
into the jar three times to fill it, how many quarts of water does it take to fill the jar? (round to

(NE nearest whole nuamoer) o T

|




3. Brad's father asked an engineer to survey the field behind their house. He wanted to plant some orange and
tangerine trees there. According to the survey, the field is thirty-two feet long and six yards wide. What is the perimeter of
the field in feet? —




4, John wanted to impress his friends by winning the 200 yard dash at the track meet. If
he runs 8.2 feet per second, how long will it take him to complete the dash? (round to the
nearest tenth)

| _ | yd = 2004d
Atk = eooft 30 XE
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Y= T3 1T sec e "1 2D seconds



5. Lizzy saw a raccoon in her backyard last weekend. She put out some water and a
bowl with 3 cups of food. The raccoon drank all the water and ate 1/2 the food. How many
ounces of food did the raccoon eat?
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Home Work 10/2/17

Customary Conversion # 6 - 10.
Answer the questions on a sheet of paper and show all work.



6. Kelsey has a new baby brother! He weighs 8 Ibs 3 0z. The doctor said the baby should
gain about 5 ounces per week. At that rate, how much should the baby weigh in 3 months (12
weeks)? In b and oz —
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7. The police went on a wild chase to catch a man speeding through town in a black pick-up
truck. At times their speeds exceeded eighty-five miles per hour. At that rate, how many mlles
would the car go in 20 minutes? (round to the nearest whole mie) o
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8. Melissa's boyfriend gave her a 2 |Ib heart-shaped box of chocolates. The box had 68 pieces
of chocolate. What was the average weight for each piece of chocolate? (round to the nearest
hundredth)
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9. According to the news repart, the volcano dumped thirty-three million gallons of lava on the
surrounding countryside. The biggest eruption up to this time had left three million, seven
hundred thousand gallons of lava in its wake. How much more lava was dumped this time?
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10. The concession stand in the theater kept track of its drink sales each week. In the first week of June, the
_ theater sold sixty-seven gis.af Pyrple Passion. In the second week It sold Sixty-eight gts of the same drink. Sales
were twenty-two gal the third week and one hundred three qts the rourth week. What was the average weekly
—

amount of Purple Passion sold 10 the nearast quart m June ?
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Closing
Ticket-Out-the-Door
Show Work!!!

1.5ft = N

2.64 gt = gal

10/2/17



